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The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

ware g gz TaEd fod (R @ webt)

(a) Define ordinal utility.
waamE Serafaea A fa

(b) What is mixed economy?

fqm mdfz &9

(c) What is scarcity?
Teeerel 9
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(2) ( 3 )

(d) What is income effect? What i jable cost?
m at 1s varia
w1 R 3P B ogw? ()qﬁz@—.‘%mﬁ“’
(e) What is composite demand? (n) Mention one assumption of perfect
Qe oif 52 competition.
opf eifecarfarer <51 SfeqRen S 4|
(f) State the law of demand. . . itution?
A _ (o) What 1s marginal rate of substitution
j o oifis eifossrer 2T 2
(i Defi
g) Define market. (p) What is cost function?
IEY Agedr forat | Jq T WA 672
(h) State one assumption of the law of (q) Define consumer’s surplus.
e T9e 1 I IS forat |

supply.
@i RfYe G5t 56 3 SfSyRen fors |

ns :

] ” 2. Answer any five of the following questio
() ~What is production function? 2%5=10
wors fo e B G SAmo TET ferar -

Teofme o 59
(a) Write two characteristics of socialist

() Mention one caus :
e of diseconomi
large scale production. omies of S 'if;' foratl
SIS efqfeq e |
TR TAR BV SIS G5 BT B |
i (b) State two determinants of demand.
(k) What is explicit cost? sifra 75t e S 0
aifirs am 59
(c) What is income elasticity of demand?

1 C s i
W an two indifference curves cut each piftwra s RRegereel i & =2

other?
7o FRerE @3 35l sk N 2 (d) ;:z;isﬁ:’xed cost?
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(e)

(9)

(h)

()

0)

(4 )

What is minimum support price?
BT I RICRU R

Write two characteristics of a centrally
planned economy.

FEe cfREe w<Afe bR Wl CaEy
forat |

What do you mean by price rationing?
Price rationing 3ferel & &2

What is isocost line?

- T (@9 162

What do you mean by shift in supply
curve?

@e @R SR Ay IR g2
What is long-run cost function?

A I T 52

3. Answer any four of the following questions :

L]
(@)

(b)

A23/468

5x4=20
fimt erpryza R I sif¥BR Sed forr

Explain budget line with the help of a
diagram.

e TRTS ATEG @AroE 16 F9 |

Distinguish between market price and
normal price.

Freifed 7 WiF IHR 799 AL et |
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(c)

(@)

(e)

(9)

(h)

A23/468
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Discuss the factors affecting price
elasticity of demand.

o we  fEfegreel  MfRa sz
SICEAD Pl |

Distinguish between monetary cost and
real cost.

@S W AT APS I AL TS |

Why does the demand curve slope
downward towards the right?

oifgwt @rerE Gt few i@ =2

Explain the factors affecting shift in the
supply curve.

@A @R FEmEe ool @R 34
TAIATE Aol B4 |

Explain the assumptions of indifference
curve analysis briefly.

fRere @ Rome sfsyRarmz 53
SIS 4 |

Explain short-run equilibrium of a
firm under perfect competition with
abnormal profit.

o4f efsrifier wwsfe JE afewn a¥wT
A SIFTTS WE SEeliie ey R
SNEASA 9 |
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4. Answer any four of the following questions : (/) What are the characteristics of perfectly
10x4=40 competitive market? Explain long-run
oS Tl AT R @l sifeR See o equilibrium of a firm under perfect
competition. 4+6=10
(a) State and explain the law of demand 4 MW TS5 m 59
with the help of a diagram. 1 i
Sy ot *9f Aferfrense IWRT FPEGT SR
RIEY oiF fogq =@ g 40 s g 3
(b) Explain the law of variable proportion
with the help of a diagram. (9) Explain the properties of indifference
“Afaadaiier Sere vt g wmar o === b

s @R wERErEE IR 4
(c) Explain diagramatically the law of

diminishing marginal utility. What are (h) Discuss the long-run industry supply
its assumptions? 7+3=10 curve under perfect competition.
FRRPEF AfFE Seraifirer RRGr faa @ of afewafier Soaem fdedia e @
[ 4| WA AR e A 4 |

(d) What do you mean by diseconomies
of large scale production? Explain its
causes. 2+8=10 * % &

JZ8 TR TR Sfearel 3 @ g7
WA FRPTZ 0 T4 |

(e) What is least cost combination of
inputs? Discuss how least cost combi-
nation of inputs is attained with the
help of isoquants and isocost lines.

2+8=10

TS T AN 59 ATSAMH A1 =1
TR A T 27, WEADAT 30 |
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